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1-2

1997
- - 13 4
[ ] Sv
-1.2.1
1000
80cm/s
100
//'
/1
//
P
/ //
10
Sv
(cm/s)
0.1 1 10

Ts( )

-1.2.1

ST



1-3

1 1)
2 2)
1
[ ] 45
50
50
44 4) 1/V 3
2
@)
N/mm?2 N/mm?2
(mm) N/mm?2
16 40
16 40
SM490A 215 490 125 325 315 295 490 610
(2) [N/mm2]
8.8 290 830 200 660 830

ST ( 2 )




2-1

Dp

EHir

wUJ

h+t
VAV T
I,
Di | Do
Uy
AR, t
h+t
-2.1.1 2
[ S50 ]
Do m 3.550
Di m 3.294
m 1.00
h m 0.125
Rc m 1.7168 1
De m 3.394
ns 6
a ° 14.5
m 0.0030
tr m 0.014
ts m 0.009
0 s ° 11.250
:Rc=Do/2-yo
yo =
2 (tr h (t+h/2)+25 t2 t/2)

yo =

2 (tr h+25 ©)

2x (0.014x 0.125x (0.0030 + 0.125 / 2 )+ 25x 0.00302x 0.0030 / 2 )

2x (0.014x 0.125 + 25x 0.00302)

= 0.0582 (m)

tr

Rc = 3.550 / 2 - 0.0582 = 1.7168 (m)

0.0030 (m)

0.014 (m)

ST ( 2 )



Ab n

LT

| B | tbw
_AAR Dy - ALEDL
-2.1.2
Mg 20
Qb m 0.023
Ab m? 0.000314
An m?2 0.000245
Nrb 32
IB1 m 0.0200
Nbw 1
thw m 0.0030
In m 0.016
Cb % 60
hes m 0.0750

ST




2-2

ugv_ N Vsi y ti
7 6L - (m/sec) (kN/m3)
7 &
o 2 5 137 17.000
3 3 144 16.000
£ g
(o)
—
~ 4 10 172 17.000
<
W
5 N
o
~
<
N
1
T
_ 5 2 126 16.000
!
6 12 183 17.000
A\VA
7
50 300
-2.2.1
Vsi (m/sec)
Vsi = 100Ni/3(1 Ni 25)
Vsi = 80Ni/3(1 Ni 50)
Ni =0 Vsi= 50
Ni i

ST



5m

300m/s
N=25

25

N=50

( 300m/s

GL-24.700m

ST (



3-1

" Hi
Tc= 4% Ve
i= 1 SI
Te (sec)
Hi o i (m)
Vs (m/sec)
Hi(m) Vsi(m/sec) 4 Hi/Vsi(sec)
0.500 2 101 0.020
2.800 5 137 0.082
1.900 144 0.053
3.300 10 172 0.077
12.200 2 126 0.387
4.000 12 183 0.087
24.700 0.706

Tc = 0.706 (sec)

ST




3-2

( )

Ts=1.25 Tc=1.25x 0.706 = 0.883 (sec)

Ts
Te 0.706(sec)
3-3
2 0.7 80cm/s 0.7
1000
80cm/s
100
—
//
//
P
/ i
10
Sv
(cm/s)
0.1 1
Ts( )
-3.3.1
Ts =0.883 (sec) Sv 0.800 (m/sec)

ST
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3-4

Gs
Y i@
Gs=———— VDs?
g
16.000
Gs = x 126.02 25920 (kN/m2)
9.8

Gs (kN/m2)

g 9.8 (m/sec?)

VDs 126.0 (m/sec)

H 24.700(m)

Ts 0.883(sec)

Y ti2) 2) 16.000(kN/m3)
Hi(m) v 1 (kN/md)
0.500 18.000
2.800 17.000
1.900 16.000
3.300 17.000
12.200 16.000
4.000 17.000

ST



3-5

1 L2

L:
L= 2L1 L2 _ 2x 98.8 x 264.9
L1+ L2 98.8 + 264.9

= 143.9 (m)

L1
Li1=Vps Ts=4H =4 x 24,700

=98.8 (m)

L2

L2 =Ves Ts=300x 0.883

=264.9 (m)
H 24.700 (m)
VBs 300 (m/sec)
Ts 0.883 (sec)

ST

L1

10



3-6

Kg1
Kgt =C1 Gs=1x 25920 = 25920 (KN/m?)
Kg2
Kg2 =C2 Gs=1x 25920 = 25920 (KN/m?)
Kg3
Kga =Cs Gs=3x 25920 = 77760 (KN/m?)
Ci1 C2 Cs3 Kol Kg2 Kg3
Ci1 C2 1.0 C3 3.0
Gs 25920 (kN/m?)
Te sec 0.706
Ts sec 0.883
Sv m/sec 0.800
Y teq kN/m3 16.000
Vs m/sec 126.0
Gs kN/m2 25920
L m 143.9
Kol kN/m?2 25920
Kg2 kN/m?2 25920
Kg3 kN/m?2 77760

ST
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4-1
@)
( )
Ki

N <

N <«
@)

( + )

(
[=n@B 6
Kj EsAs
=N N =
Il
(EA)Teq =N N =
-4.1.1
(

) (
|=n0OB
1B
)
< N
I
(EA)Ceq « N
7 M\\\
// \
/' ¢y Re \

ST
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4-2

Do m 3.550
Di m 3.294
B m 1.00
Rc m 1.7168
Dp m 3.394
t m 0.0030
hs m 0.118
ts m 0.009
bs m 0.089
R1 m 0.0135
R2 m 0.0225
Nja 26
hj m 0.125
tj m 0.014
nj 12
Mg 20
0B ° 11.250
Qb m 0.023
Ab m?2 0.000314
An m?2 0.000245
Nrb 32
IB1 m 0.0200
Nbw 1
thw m 0.0030
In m 0.016
Ch % 60
hss m 0.0750

ST
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14
2) As Is

40 20

Ast =40 t2 na+20 t2 n;
2F¥ Ik ASt

40t

= 40x 0.0030 2x 26 + 20x 0.0030 2x 12

=0.0115 (m?)
#UT As2

IXVPHFR AS3

-4.2.1

s
As2 = (ts (hs-R2)+ (R2-R12)+ts (bs-R2)) nja
4
s
=  (0.009% (0.118 - 0.0225) + x (10.02252 - 0.01352 ) + 0.009x (0.089 - 0.0225) )x 26
=0.0445 (m?)
As3 = t hj nj
= 0.014x 0.125x 12 = 0.0210 (m?)

Ass =Asi+As2+ Asz3 = 0.0115 + 0.0445 + 0.0210 = 0.0770 (m?)

As = Ass
Ass 0.0770 (m?)
As1 0.0115 (m?)
As2 0.0445 (m?)
As3 0.0210 (m?)

ST ( 2 )



2)
Is
10 ( D3* - D4*)
Is =
64
D3 (m) =2 Rc+tc
D4 (m) =2 Rc-tc
tc: (m)
As 0.0770
tc = = = 0.0071 (m)
2 Rc 21 x 1.7168
Rc 1.7168 (m)
As 0.0770 (m?)
D3= 2 Rc+tc = 2x 1.7168 + 0.0071 = 3.4407 (m)
Da= 2 Rc-tc = 2x 1.7168 - 0.0071 = 3.4265 (m)
Is
T (3.44074 - 3.4265%)
Is = = 0.1129 (m%)
64
3) Ks
Es Ass 210000000x 0.0770
Ks = = = 16170000 (KN/m)
B 1.00
Es 210000000 (KN/m2)
Ass 0.0770 (m?)
B 1.00 (m)

ST
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4-3 kj
-4.3.1
1
1 1 2
= +

Kj Ks Kp

Ki

KB

Kp ( )

TH

UDJlFRILE

-4.3.1

Eiy)

U IREMRIb

B
=>

ST

wuo
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. i i Fovk

An | Ab
I'n
In [B2 IB1
kB2 kBt
-4.3.2
1 ks
k1 kB2 EB An
ks = =
k1 + kB2 An/ Ab IB1+1IB2 + I'n

210000000x 0.000245

1405542 (kN/m)
0.000245 / 0.000314x 0.0200 + 0.011 + 0.010

KB

Ke = kB nrb = 1405542% 32 = 44977344 (kN/m)

Es 210000000 (kN/m?)
An 0.000245 (m?)

Ab 0.000314 (m?)

ks1

ks2

IB1 0.0200 (m)

IB2
IB2=2 tr+nbw tow- IBL
= 2x 0.014 + 1x 0.0030 - 0.0200
= 0.011 (m)

I'n=In Cb
= 0.016x 0.60 = 0.010 (m)
(Cb =60

ST ( 2



kp =
-4.3.3
1)
3 5 1/3 1/6
(
(0) BB Y IRET Y PP M2
P B 5 = -
2 p 2 48El 8El

' 2
Mpg/ y | QMD Moo 20
/ 4

-4.3.4

ST
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-4.3.4 ( )1 kp

48 Es Ip

kp =
i3
Ip

h tr3 0.125x 0.0143

Ip = =
12 12

= 28583 10-12 (m¥)

i= Rp O6s 1 /180

Es
tr
Rp
0s

48 x 210000000 x 28583x 10-12

0.3333

= 7803 (kN/m)

Kp

Kp = kpx nrb = 7803 x 32 = 249696 (kN/m)

1.697 x 11.250 x 1 / 180 =

0.125 (m)
210000000 (kN/m2)
0.014 (m)
1.697 (m)
11.250(° )

nro = 32

ST

0.333 (m)
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1 1 2
= +
Kj Ks Kp
Ke Krp
Kij=—
Kp + 2KB
1 ki
" ks kp 1405542x 7803
J = =
ke + 2ks 7803 + 2x 1405542
K
Ki = ki nmb = 3891 x 32 = 124512 (kN/m)
4)
Ks Kp Ks Kp Ks
Ki
-4.35

3891 (kN/m)

Kp KN/m 249696
Ks KN/m 44977344
Ki KN/m 124512
Ks KN/m 16170000
ST ( 2
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4-4

(EA)Ceq = Es As = 210000000 x 0.0770

(EA)Teq

= 16170000 (kN)

Ass

1
= Es
(Ks/Kj)+1
1
(16170000 / 124512) + 1
= 123561 (kN)
(EA)Ceq
(EA)Teq
Es
As
Ass
Ks
Kj

x 210000000x 0.0770

ST

(kN)

(kN)

210000000 (kN/m2)
0.0770 (m2)

0.0770 (m?)
16170000 (kN/m)

124512 (KN/m)

21



4-5

210000000 (kN/m2)
0.1129 (m4)

(rad)

124512 (kN/m)

cos3@
(El)eq = Es Is
cosQ +(m /2+¢@ ) sing

Es

Is

¢

Ki
1 Kj

@ +cotp = T ( + )
2 Es As/B
(El)eq
1 Kj
¢ tcotgp = m ( +
2 Es As/B
1 124512
= T ( +
2 210000000 x 0.0770 /7 1.00
= 1.595
@ =1.163 (rad)
cos 31.163
(El)eq =

cos 1.163 + (1 / 2+ 1.163) x sin 1.163

508866 (KN m2)

x 210000000 x 0.1129

As m2 0.0770
Ks kN/m 16170000
(EA)Ceq kN 16170000
(EA)Teq kN 123561
Ki kN/m 124512
(El)eq kN m2 508866
ST ( 2
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a) h(z)
nZz
Unz) = Sv Ts cos (
2 2H
2 T x 14.719
= x 0.800x 0.883x cos ( —————— ) =0.0849 (m)
2 2 x 24,700
Sv 0.800(m/sec)
Ts 0.883(sec)
z 14.719(m)
H 24.700(m)
b) %
Uv Unz 1/2
1 1
Uv = Uh@) = x 0.0849 = 0.0425 (m)
2 2
U=Asin [27[*’1
> Acose
N X
. zaw
Asine—| A:Uh(z):%2 Sve Tse coOS %
L/cosé
Us Asiné
sHEEHU. LU=Asiné - sin (M%bﬂ X)
Ur Acosd
BHOZNU. U=Acos ¢ - sin [ch%b o X)
-5.1.1

ST ( 2



5-2 [ 1

-5.1.1
-5.2.1
PCh
m  Unhg
PCh= o€ —————  (EA)Cq
L
T x 0.0849
= 0.627x ——————— x 16170000 = 18792.057 (kN)
143.9
PTh
T Unhg
Plh= aTt —————— (EA)Tq
L
T x 0.0849
= 0995 x ———————— x 123561 =227.877 (kN)
143.9
PCv
T (Ung +Uv)
PCv= a© (EA )Ceq
2L
T x (0.0849 +0.0425)
= 0.627 x x 16170000 = 14099.577 (kN)
2 x 143.9
Mhn
W
P
o
—
PTh
P%
%//r PTh
My

-5.2.1

ST ( 2



PTv =

PTv

T (Un@ +Uv)

a1 (EA)Teq
2L
1 x (0.0849 +0.0425)
0.995 x x 123561 = 170.975 (kN)
2 x 143.9
Mh
4112 Un@)
a2 ————————— (El )eg
L2
4112 x 0.0849
1.000 x x 508866 = 82.366 (KN m)
143.92
. Mv
42 Uv
[0 - T — (El )eg
|_2
4112 x 0.0425
1.000 x x 508866 = 41.232 (kN m)
143.9 2
Qh
83 Unw
a2 ————————— (El )eg
|_3
81 3 x 0.0849
1.000 x x 508866 = 3.596 (kN)
143.93
Qv
83 Uv
(o < D — (El )eq
|_3
81t 3 x 0.0425
1.000 x x 508866 = 1.800 (kN)
143.93
(EA)Ceq
(EA)Teq
(El)eq
Uh@z)
Uv
L
ST

16170000(kN)

123561(kN)

508866(kN m?)

0.0849(m)

0.0425(m)

143.9(m)

25



a0 a1 a2 a3

1

aCi=
1+(2m /(A C Li))?2

1
= = 0.627
1+ (21 /(0.040 x 203.5) )2

1

aTi=
1+(2m /(ANT1 Li))?2

1
= = 0.99
1+ (21 /(0.458 x 203.5) )2

1

1+(2m /(A2 L))4

1
= = 1.000
1+(2m /(0.475% 143.9) )

1

1+(2m /(A3 L))4

1
= = 1.000
1+ (21 /(0.625x 143.9) )

Ko 25920

AcCL= — = ———— = 0.040 (I/m)
(EA)Ceq 16170000
Kot 25920

ATi= — = ——— = 0.458 (I/m)
(EA)Teq 123561

Kg2 25920

A2= 4 ——— = 4] —— = 0.475(/m)
(El)eq 508866
Kgs 77760

As= 4 —— = 4] ——— = 0.625(/m)
El)eq 508866

(
L= 42 L = 42 x 1439 = 2035(m)

Kot 25920 (kN/m2)
Kg2 25920 (kN/m2)
Kg3 77760 (KN/m2)

ST



PCh kN 18792.057
PTh kN 227.877
Py kN 14099.577
PTy kN 170.975
Mh kN m 82.366
Mv kN m 41.232
On kN 3.596
Qv kN 1.800
Un m 0.0849
Uv m 0.0425

ST
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5-3
45
1)
a)
. 1
PCo* = 77—
Y
_r
KR
b)
M 1
h' = ——
12
1
2
Mh
PCo

-5.3.1

5-2

. PCo’

PCo

x 33224.674 = 23493.392 (kN)

‘Mn'

Mh

x 82.366 = 58.242 (kN m)

82.366(kN m)

PCo= 4 2PCR2+2PCv2 = 4 2 x 18792.0572+2 x 14099.5772

= 33224.674 (kN)

ST (

28



a) :Po
1
PTo' = 4/: PTo
2
1
= —— x 402.891 = 284.887 (kN)
A2
b) My
Mv* L M
V= —— v
N2
1
= —— x 41.232 = 29.155 (kN m)
N2
Mv
PTo

PTo= 4 2PTh2 + 2PTy2

41.232(kN m)

A 2x 227.8772+2x 170.9752

402.891 (kN)

PCo’ kN 23493.392
PTo* kN 284.887
Mh* kN m 58.242
Mv* kKN m 29.155

ST (
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@ Pmax (KN)

a) 2 PCmax(kN)
PCmax =& € PCo’
b) . PTmax(kN)

PTmax =& T PTo'

EC
ET
¢ ¢T
. cos(2m n /L)
= 1+
¢ cosh(AC (Li/2-n))
(EA )Teq aTy cos(2m n /Li)

-
1
=
|

( EA )Ceq a C1 cosh(A Tt n )

n 0<n <Li/4

21 21 [
aTt tanh (A T2 n)+ — oC tanh (A C( —
ATi L A C1o L
n
-(aT1-aC) tan(2m —— )=0
Li

ATL 0.458 (I/m)
AC 0.040 (I/m)

Li 203.5 (m)
aT: 0.995
a C1 0.627
n
n =31.695 (m)

ST



£€Cc &7

cos(2m n /L)

ge= 1+
cosh(AC (Li/2-n))
cos (2 x 31.695 / 203.5)
= 1+ = 1.067
cosh (0.040 x (203.5/72-31.695))
(EA )Teq aTy cos(2m n /Li)
& 7= (1 -
( EA )Ceq a C1 cosh(A Tt n )
123561 0.995 cos (2m x 31.695/ 203.5 )
= x x (1- ) = 0.012
16170000 0.627 cosh (0.458 x 31.695)
PCo"  23493.392 (kN)
PTo'  284.887 (kN)
PCmax= & € PSo' = 1.067 x 23493.392 = 25067.449 (kN)
PTmax= & T PTo' = 0.012x 284.887 = 3.419 (kN)
(2) Mmax (KN m)
Mh* My’

Mh'  58.242 (kN m)

Mv'  29.155 (kN m)

Mmax = Mh' = 58.242 (KN m)
PCrmax (kN) 25067.449
PTmax (kN) 3.419
Mmax (KN m) 58.242

ST ( 2 )



5-5

a) 10 Cp

PCmax Mmax
o Cp' = + yZS
As Is
yzs (m)
Vzs Do/2=3550/2 = 1.775 (m)
As 0.0770 (m?)
25067.449 58.242
o Cp' = + x 1.775
0.0770 0.1129
= 326467 (kN/m?) 326.467 (N/mm2)

ST

32



0.000245 (m?)

32 (' /Ring)

b) 0B
o8B
OB= OBL+OR2
o BL
PTmax 3.419
O B1= = = 436 (KN/m2)
AB 0.007840
0.436 (N/mm?)
AB = An nrb=0.000245 x 32 =0.007840 (m2)
An
Nrb
O B2
fj
0B2=
An
f (kN)
Mmax B T sing
fj = Rc(1+sing ) Kkj
Es Is cosé@
58.242 x 1.00 T % sinl1.163
= X
210 x 108x 0.1129 c0s31.163
= 1.455 (KN)
Mmax
Is
B
Es
Q (
N
Rc
0 B2
fj 1.455
O B2= = 5939 (KN/m?)
An 0.000245
5.939 (N/mm?)
oB
OB= O0BL+0B2 = 0.436 +5.939 =

ST

6.375 (N/mm?2)

O B2

x 17168 x (1 +sinl.163) x 3891

58.242 (kN m)
0.1129 (m4)

1.00 (m)
210000000 (kN/m2)
1.163 (rad)

3891 (kN/m)
1.7168 (m)

33



oj= ojl+0o

PTmax
ojl= Bm — —— = 13591.837 x
Nrb

= 1452 (kN/m?)  1.452 (N/mm?)

3.419
32

lj 0.333
Bm = =
h tr 0.125 x 0.0142
= 13591.837 (kN/m?)
O j2

O = Bm fj =13591.837 x 1.455
= 19776 (kN/m2)

19.776 (N/mm2)

Bm 1(kN)
Bt 1(kN)
Nrb

I

h

tr

Oj
gj= Ojl+0j2 = 1.452 + 19.776

32

0.333 m
0.125 (m)
0.014 (m)

= 21.228 (N/mm2)

ST
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Tj= Tj1+T1j2
T it
PTmax 3.419

1= Bt ——— = 285.714 x
Nrb 32

=31 (kN/m2)  0.031 (N/mm?)

1 1
Bt = =
2 h tr 2x 0.125 x 0.014

= 285.714 (KN/m?)
T j2
T2 = Bt f =285.714 x 1.455

=416 (kN/m2)  0.416 (N/mm?)

Tj= Tjl+T 2 = 0.031 + 0.416 = 0.447 (N/mm?2)
)
o B1 N/mm?2 660 830 0.436 OK
oj1 N/mm? 325 490 1.452 OK
Tl N/mm?2 187 0.031
0 B2 N/mm? 660 830 5.939 OK
oj2 N/mm? 325 490 19.776 OK
Tj2 N/mm?2 187 0.416
o °p’ N/mm?2 325 490 326.467 OK
gB N/mm? 660 830 6.375 OK
oj N/mm? 325 490 21.228 OK
T N/mm? 187 0.447

ST ( 2
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a) ( ): 3¢

PTmax PTmax

Ks Kj
3.419 3.419

16170000 124512

0.00002767(m)  0.0277 (mm)

PTmax
Ks
Ki

ebt =(8t/Lbc) 100 = (0.0277 /31.0) x

Lbc 2 tn+tw now = 2 x

tr1
tbw

Nbw

€ bt =0.0894 ( )

36

3.419 (kN)
16170000 (kN/m)
124512 (kN/m)

100 = 0.0894 ( )

14 +3.0x 1 = 31.0 (mm)

14 (mm)
3.0 (mm)
1()

=2200( ) OK

ST ( 2 )
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6-1

-6.1.1
=>

Uh
r
{
{
{
{
I
|
{
i
{
{
{
,
{
{
{
{

-6.1.1

ouT

0K

END

-6.1.2

ST



()
2 T Hhi
Un(hi) = Sv Ts cos( )
M2 2H
Sv 0.800 (m/sec)
Ts 0.883 (sec)
Hhi (m)
24.700 (m)
oL _ (m
Z 2 (B
k 0.140 (GL')
g Hhi(m) Un(hi)(m)
- 0.135
0.000 0.143
2 ? 0.500 0.143
) 0129 3.300 0.140
5.200 0.135
g 8.500 0.123
¥ 20.700 0.036
g {) 24.700 0.000
0.036
7 0.000
-6.1.3
ST (
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PSPPI

yﬂ
VA

-6.1.4

Ar=2 (tr h+25 t2)/B

Yo

=2x (0.014 x 0.125+ 25 x 0.00302) / 1.000000 = 0.003950 (m?)

3950 (mm?)

2 (tr h (t+h/2)+25 © t/2)

2 (tr h+25 )
2x (0.014x 0.125x (0.0030 + 0.125 / 2 )+ 25x 0.00302x 0.0030 / 2 )

2x (0.014x 0.125 + 25x 0.00302 )

0.0582 (m)

=h+t-yo

=0.125 + 0.0030 - 0.0582

= 0.0698 (m)
tr 0.014 (m)
h 0.125 (m)
t 0.0030 (m)

ST
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IsE =

n Es

troyis tr(yo-t)d t 25 t¢

2 ( + +25t2(yo- —— )2+ ———————

3 3 2 12

0.014 x 0.0698 3 0.014 x ( 0.0582 - 0.0030) 3
2( +

3 3
0.0030 25 x 0.00304
+25x 0.00302 x (0.0582 - )2+
2 12

0.000006190845 (M)

6190845x 10-12 (m¢)

6190845x 10-12 / 1.00 = 6190845x 10-12 (m#)

tr

IsE

0.014 (m)

0.0030 (m)
0.0698 (m)
0.0582 (m)

1.00 (m)

6190845x 10-12

Z0 = =
Yo

IsE

= 0.000106372 (m?3)
0.0582

6190845x 10-12

Yi

Yo

Yi

IsE =

1.00x 210000000% 6190845x 10-12 =

= 0.000088694 (m3)
0.0698

0.0582 (m)

0.0698 (m)

1300.1 (kN m2/m)

210000000 (kN m2/m)

100 ()

ST ( 2

106372 (mm3)

88694 (mm3)
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6-2

M@ )

3t El . n Z
B —  Uno sin(

2Rc H 2H

Qe®)

3t El . n Z
-B — Uno sin(

Rcz H 2H

N@®)

3t El . n Z
-B — Uno sin(

Rcz H 2H

( )

z
Rc
El ( )
Uh(0)
Gs
Vs
B

4(1-vs)Gs Rc3

(3-2vs)Gs Rc¥+6(3-4vs) El

)

)

C sin20
C cos20

(1+
6EI

(rad)

24.700 (m)

14.719 (m)

1.7168 (m)

1300.1 (kN m2/m)

0.143 (m)

25920 (kN/m2)

0.50

1.3

4x (1-0.50)x 25920x 1.7168 3

Gs Rc3

)

Cc

sin20

(3-2x 0.50)x 25920 x 1.7168 3+ 6x (3 - 4x 0.50 )x 1300.1

0.971

ST
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0() M(KN m) Q(kN) N(kN)
0 0.000 ~24.464 0.000
10 -7.182 ~22.989 149.051
20 -13.498 -18.741 280.125
30 -18.186 ~12.232 377.411
40 -20.681 -4.248 429.176
50 -20.681 4.248 429.176
60 -18.186 12.232 377.411
70 -13.498 18.741 280.125
80 -7.182 22.989 149.051
90 0.000 24.464 0.000
100 7.182 22.989 -149.051
110 13.498 18.741 -280.125
120 18.186 12.232 -377.411
130 20.681 4.248 -429.176
140 20.681 -4.248 -429.176
150 18.186 ~12.232 -377.411
160 13.498 -18.741 -280.125
170 7.182 ~22.989 -149.051
180 0.000 -24.464 0.000
190 -7.182 ~22.989 149.051
200 -13.498 -18.741 280.125
210 -18.186 ~12.232 377.411
220 -20.681 -4.248 429.176
230 -20.681 4.248 429.176
240 -18.186 12.232 377.411
250 -13.498 18.741 280.125
260 -7.182 22.989 149.051
270 0.000 24.464 0.000
280 7.182 22.989 -149.051
290 13.498 18.741 -280.125
300 18.186 12.232 -377.411
310 20.681 4.248 -429.176
320 20.681 -4.248 -429.176
330 18.186 ~12.232 -377.411
340 13.498 -18.741 -280.125
350 7.182 ~22.989 -149.051
360 0.000 -24.464 0.000

0
0
M N
ST 2
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0() M(KN m) Q(kN) N(kN)
0 11.758 0.000 318.946
10 10.773 -6.469 320.594
20 8.009 ~11.669 325.251
30 4.011 ~14.575 332.110
40 -0.437 -14.614 340.006
50 -4.455 -11.808 347.606
60 -7.330 ~7.190 353.483
70 -8.716 -2.106 357.023
80 -8.680 2.107 358.365
90 -7.645 4.430 358.255
100 -6.142 5.587 357.534
110 -4.313 6.583 356.324
120 -2.232 7.232 354.702
130 -0.029 7.384 352.801
140 2.128 6.898 350.867
150 4.021 5.636 349.392
160 5.460 3.913 348.452
170 6.346 1.986 347.961
180 6.644 0.000 347.813
190 6.346 -1.986 347.961
200 5.460 -3.913 348.452
210 4.021 -5.636 349.392
220 2.128 -6.898 350.867
230 -0.029 -7.384 352.801
240 -2.232 -7.232 354.702
250 -4.313 -6.583 356.324
260 -6.142 -5.587 357.534
270 -7.645 ~4.430 358.255
280 -8.680 -2.107 358.365
290 -8.716 2.106 357.023
300 -7.330 7.190 353.483
310 -4.455 11.808 347.606
320 -0.437 14.614 340.006
330 4.011 14.575 332.110
340 8.009 11.669 325.251
350 10.773 6.469 320.594
360 11.758 0.000 318.946

ST 2
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6 () M(KN m) Q(kN) N(KN)
0 11.758 ~24.464 318.946
10 3.501 ~29.458 469.645
20 -5.489 -30.410 605.376
30 ~14.175 ~26.807 709.521
40 -21.118 -18.862 769.182
50 ~25.136 ~7.560 776.782
60 -25.516 5.042 730.894
70 22.214 16.635 637.148
80 -15.862 25.096 507.416
90 ~7.645 28.894 358.255
100 1.040 28.576 208.483
110 9.185 25.324 76.199
120 15.954 19.464 ~22.709
130 20.652 11.632 ~76.375
140 22.809 2.650 -78.309
150 22.207 ~6.596 ~28.019
160 18.958 -14.828 68.327
170 13.528 ~21.003 198.910
180 6.644 ~24.464 347.813
190 -0.836 ~24.975 497.012
200 -8.038 ~22.654 628.577
210 ~14.165 ~17.868 726.803
220 -18.553 ~11.146 780.043
230 ~20.710 ~3.136 781.977
240 -20.418 5.000 732.113
250 ~17.811 12.158 636.449
260 -13.324 17.402 506.585
270 ~7.645 20.034 358.255
280 -1.498 20.882 209.314
290 4.782 20.847 76.898
300 10.856 19.422 -23.928
310 16.226 16.056 ~81.570
320 20.244 10.366 -89.170
330 22.197 2.343 ~45.301
340 21.507 ~7.072 45.126
350 17.955 ~16.520 171.543
360 11.758 ~24.464 318.946

8 () M(KN m) N(kN) Qmax(kN)
+Mmax | 140 22.809 ~78.309
~Mmax 60 -25.516 730.894 730410
ST 2
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6-3

a)

10.773 11758 10773
09 8009

5460 5460
6346 §paq 6346
6 =0°
=11.758 (kN m)
6 =70°
= -8.716 (kN m)
b)
0000 -782 713498 1016
13408 1 -20681
18186
20681 -20681
-18.186
-13.498
13498 '
7.182 ' -7.182
0000 ‘ 0o - 90 0.000
7182 7182
13498
-13.498
18.186
-18.186
20,681
20,681 0000 7182 13498
-18.186
-13.498 ~7-182
6 =130°
=20.681 (kN m)
0 =40°
= -20.681 (kN m)
c) +

-18553
-14.165 _g03g -0.836 6644 13528

18958

9 =140°
=22.809 (kN m)
9 =60°

= -25.516 (kN m)

ST ( 2
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325.25;
332110

340.006

5.251
332110

340.006

320.504318.946320 504
i 0 32

347.606 347.606

353483 353483
357.023 357023
358365 358.365
358255 90 358.255
357534 357534
356.324 356324
354702 354702
352801 352801
350867 350867
349392 180 349392
348452 348452
347961347 81 $47.961
_377.4117 280125149051
0.000
429176 1490550 125
0 377411
429176 129176
P 429176
377411
-280.125
280125
-149.051 149,051
0,000 90 0000
149,051 -149.051
280.125
-280125
129176 377411
429176 429176
377411
280125 .
5490510000 429.176
-149.051_pg0 1957377411
c) +
171.54P18.946469.645
45126 605376
-45.301 0 700521
-89.170 769.182
-81570 776.782
23928 ) 730894
76898 637.148
209314 507.416
358255 90 358.255
506585 208483

636.449 76.199

732113 -22.709

781977 76375

780.043 -78.309
726.803 '180 -28.019

628577 68327
497.012347 813198910

ST

]

]

0°
= 318.946 (kN)
70°

= 357.023 (kN)

130°
= -429.176 (kN)
40°

= 429.176 (kN)

140°
= -78.309 (kN)
60°

= 730.894 (kN)



a)
6460 M9y, ce
B8 e 1986 0.000 1986 sons
0 =40°
= -14.614 (kN)
b) 22989 “24464 55 989
22989y, 464 ~22989
6 =0°
= -24.464 (kN)
C) + 24464 2948 o
-22654 24975 _oq 454 ~21003
6 =20°
=-30.410 (kN)

ST ( 2
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6-4

6 =140° 60°
0 () M(kN m) N(kN)
+Mmax 140 22.809 -78.309
-Mmax 60 -25.516 730.894
1000N 1000000M (1+¢C )
To0=
Ar
1000N 1000000M (1+¢C )
Ti=
Ar
1o (N/mm?)
T (N/mm?)
Ar 3950 (mm2)
Z0 106372 (mms3)
Zi 88694 (mm3)
¢ 0()
1000N 1000000M (1+¢C )
TO0= +
Ar Zo
1000 x (-78.309) 1000000 x 22.809 x (1+0.00)
= + =194.6 (N/mm?)
3950 106372
1000N 1000000M (1+¢C )
Ti= -
Ar Zi
1000 x (-78.309) 1000000 x 22.809 x (1+0.00)
= - = -277.0 ( N/mm2)
3950 88694
1000N 1000000M (1+¢C )
TO0= +
Ar Zo
1000 x 730.894 1000000 x -25.516 x (1+0.00)
= + = -54.8 (N/mm?)
3950 106372
1000N 1000000M (1+¢C )
Ti= -
Ar Zi

1000 x 730.894

1000000 x -25.516 x (1 +0.00)

3950

= 472.7 ( N/mm2)
88694

ST ( 2 )
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1)
B
Fu b
M - 20
B mm 0.0200 q
An m2 0.000245 An | Ab -
Ab m2 0.000314 —
Nsb 4
-6.4.1
2)
%
t l N/
M o
I L A A VG | D -1 S
(1= I S < R —> | o fubdn =
h T L] | /J;
A
™
|
-6.4.2
M
N
o (M (1-2)-N (yp-1)) B
nsb  hss
T 1 (N/Ring)
Yo 0.0582 (m
t 0.0030 (m)
hes 0.0750 (m
B 1.00 (m)
¢ 0 (%)
ST ( 2
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0 =140°

T1

T1(0 =140° )

M = 22.809 (kN m/m)

N = -78.309 (kN/m)

(22.809 x (1-0.00) - (-78.309) x (0.0582 - 0.0030))x 1.00

O Bl=

T1

O B1

T1

90.439

An

0.000245

= 90.439 (kN)
4 x 0.0750

= 369139 (kN/m2)  369.1 (N/mm?)

(kN)
(N/mm?2)

ST ( 2 )
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a =145°

Q=N (sina -f" cosa )-Q (cosa +f sina )

0.3 ( )

K 6 k=0° 50°

0 N (sina - Q (cosa +

N (kN/m) Q (kN/m) f' cosa ) f' sina ) Qk (KN/m)
0 318.946 -24.464 -12.778 -25.522 12.744
10 469.645 -29.458 -18.816 -30.732 11.916
20 605.376 -30.410 -24.254 -31.726 7.472
30 709.521 -26.807 -28.426 -27.967 -0.459
40 769.182 -18.862 -30.817 -19.678 -11.139
50 776.782 -7.560 -31.121 -7.887 -23.234

(Qxkmax)

Qkmax = 12.744 (kN/m)
1Ring
Qkmax = Qkmax B = 12.744 x 1.00 = 12.744 (kN/Ring)

T BK
Qkmax 12.744
nsb  Ab 4 x 0.000314

= 10146 (kN/m?)

ST

10.1 (N/mm2)

Qk

51



Qmax

Qmax

Qmax B = -30.410 x 1.000
Qmax 30.410
ne Ab 4x 0.000314

24212 (kN/m?)

24.2 (N/mm2)

-30.410

a)
+
N/mm? 325 490 194.6 OK
N/mm?2 325 490 -277.0 OK
N/mm? 325 490 -54.8 OK
N/mm? 325 490 472.7 OK
b)
N/mm2 660 830 369.1 OK
( N/mm? 381 10.1
( N/mm?2 381 24.2

ST
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7-1

§ 16

Uo

A Al
V / T GL
]
]
_/f
!
&
’!
f
]
]
!
I

I,

Us

EER

U/h)

Sv Ts cos (

T2 2H

U = Un(0) - Un(h)

Uh@) Z

Sv

Ts

Uh(0)
Uh(h)

; Un(o)

x 0.800 x 0.883 x cos0 = 0.143 (m)
T[Z

ST

(rad)

(m)

(m)

17.000 (m)
0.800 (m/sec)
24.700 (m)
0.883 (sec)
(m)

(m)

53



b) ; Un(h)

1 x 17.000

Un(h) = x 0.800x 0.883x cos (

U= Un@©) - Unt) =0.143 - 0.067 = 0.076 (m)

2)
u
6 = tanl(— )

h
0.076

= tan-!
17.000

= 0.0045 (rad) = 0.258 °

72 2x 24.700

ST

) = 0.067 (m)
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7-2

5=Sg |
€ g )=(m /L) Un
Un@)
L (

; Uh@)

2
Uniz) = Sv Ts cos (
2 2H

Unz) = x 0.800x 0.883x cos (

T[2

=B =1.00 (m)

€ g= (T /143.9)x 0.0849 = 0.0019

d =¢ gx1=0.0019 x 1.00 =0.0019 (m)

& = 0.0019 (m) <=

z

mx 14.719

2x 24.700

=0.003m

ST

= 14.719 (m)

) = 0.0849 (m)

OK
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56

€b =(8 /Lbc) 100 = (1.9000731.0)x 100 = 6.1290 ( )

Lbc 2 tn+tow now = 2x 14 +3.0x 1 = 31.0 (mm)
tr1 14 (mm)
tow 3.0 (mm)
Nbw 1()
€ b=6.1290 ( ) =22.00( ) OK

ST ( 2 )



